Date: Name:

Sheet 19 Working with money £ and p + addition

10p + 13p =

8p + 8p =

17p + 3p =

20p + 7p =
Bb0p + 50p =

40p + 60p =

2lp + 21p =

15p + 25p =

14p + 16p =

62p + 33p =

£120+£230+=

£240+£160-=

£3.10+£250 =

£150 + £1.20 =

£2.50 +£2.50 =

£5.00 + £5.00 =

£10.00 + £5.00 =

£12.00 + £8.00 =

£20.00 + £10.00 =

£25.00+ £5.00 =

o You had a good go.

Score. Next step ~Try again next time.

/ 2 O o Well done
Next step - move on to Sheet 20

Working with money £ and p - subtraction




